3-(4-cyanophenyl)-2-oxazolidinone (3a): mp 143-144 °C; IR (KBr) 2222, 1765 cm;
'H NMR d 7.65-7.60 (m, 4 H), 4.57-4.49 (m, 2 H), 4.12-4.04 (m, 2 H); 3C NMR d
154.67, 142.10, 133.24, 118.71, 117.88, 106.93, 61.43, 44.76; MS calculated for
C1oHoNO3 = 188.18; MS (m/2) (relative intensity) 188 (M*, 48), 129 (100), 102 (70).
3-(4-nitrophenyl)-2-oxazolidinone (3b): mp 153-154 °C; IR (KBr) 1749 cm®; 'H
NMR d 8.24 (d, J= 9.3 Hz), 7.73 (d, J = 9.3 Hz, 2 H), 4.60-4.52 (m, 2 H), 4.18-4.01
(m, 2 H); *C NMR d 154.59, 143.81, 143.80, 124.96, 117.48, 61.42, 44.93; MS
calculated for CoHgN2O4 = 208.17; MS (m/z) (relative intensity) 208 (M*, 88), 178 (4),
149 (100)

3-(4-acetylphenyl)-2-oxazolidinone (3c): mp 146-147 °C; IR (KBr) 1746, 1679 cni’;
'H NMR (DMSO) d 7.98 (d, J= 8.9 Hz, 2 H), 7.69 (d, J = 8.9 Hz, 2 H), 4.51-4.43 (m, 2
H), 4.14-4.06 (m, 2 H) 255 (s, 3 H); *C NMR d 196.60, 154.72, 142.62, 131.57,
129.37, 117.05, 61.68, 44.6111, 26.48; MS calculated for GiH1:N O3 = 205.21; MS
(m/z) (relative intensity) 206 (M*,100), 162 (51), 148 (56), 132(14).

3-(4-for mylphenyl)-2-oxazolidinone (3d): mp 117-118 °C; IR (KBr) 1744, 1684, 1407
cmt; 'H NMR d 9.94 (s, 1 H), 7.89 (dd, J;= 8.0 Hz, ;=2.4 Hz, 2 H), 7.72 (dd, 3=8.0
Hz, J= 2.1 Hz, 2 H), 457-4.49 (m, 2 H), 4,16-4.08 (m, 2 H); *C NMR d19099,
154.76, 143.52, 131.87, 130.95, 117.65, 61.43, 44.93; MS calculated for CioHoN O3 =
191.18 ; MS (m/2) (relative intensity) 191(M"*, 95), 132 (100), 105 (51), 77 (43), 51 (21)
3-(3-methoxyphenyl)- 2-oxazolidinone (3f): mp 73-74 °C; IR (KBr) 1756 cm*; *H
NMRd 7,45 (t, J=2.3, 1 H), 7.10 (t, J= 8.2, 1 H), 6.93 (dd, J;= 8.2 Hz, J= 2.3 Hz, 1
H), 6.57 (dd, J;= 8.2 Hz, J,= 2.3 Hz, 1 H), 4.38-4.30 (m, 2 H), 3.91-3.86 (m, 2 H); 3.71
(s, 3 H);"*C NMR d 160.10, 155.16, 139.46, 129.71, 110.22, 129.71, 110.22, 109.39,
104.37, 61.26, 55.31, 45.20; MS calculated for C1oH11N.Os = 193.20; MS (m/2) (relative
intensity) 193 (M*, 100), 134 (63), 107 (51), 77 (25), 51 (5)

3-phenyl-2-oxazolidinone (3¢): mp 118-119 °C; IR (KBr) 1740 cmit; *H NMR d 7.53
(d, J=8.4Hz, 2H),7.37 (t, J=84 Hz, 2 H), 7.13 (t, J = 8.3 Hz, 2 H), 4.49-4.42 (m, 2
H), 4.07-3.99 (m, 2 H); 3C NMR d 155.38, 138.34, 129.09, 124.07, 118.27, 61.40,
45.20; MS calculated for GH11N.O, = 163.17; MS (m/z) (relative intensity) 163 (M,
61), 104 (96), 77 (100), 51 (20)

3-(3-trifluor omethylphenyl)-2-oxazolidinone (3h) : mp 52-53°C; IR (KBr) 1758 cmi’;
'HNMR d 7.78-7.70 (m, 2 H), 7.49-7.32 (m, 2 H), 4.53-4.51 (m, 2 H), 4.09-4.01 (m, 2



H); ®*C NMR d 155.13, 138.91, 131.36 (q, J = 32.4 Hz), 129.69, 129.07, 123.87 (J =
272. 0 Hz), 12049 (q, J = 3.8 Hz), 1146 (q, J = 4.02 Hz); MS cadculated for
CioHgRsN O, = 231.17; MS (m/z) (relative intensity) 231 (M*, 38), 172 (88), 145 (100)
3-(4-fluor ophenyl)-2-oxazolidinone (3i): mp 71-72°C; IR (KBr) 1739 cmi*; *H NMR
d 7.51-7.44 (m, 2 H), 7.09-7.01 (m, 2 H), 4.49-4.41 (m, 2 H), 4.05-3.97 (m, 2 H); *C
NMR d 159.32, (d, J = 243.7 Hz ), 155.45, 134.45, 120.19 (d, J= 8.0 Hz), 115.80 (d, J
= 22.5 Hz), 61.33, 45.50; MS calculated for GHsFN O, = 181.16; MS (m/z) (relative
intensity) 181 (M*, 53), 122 (100), 95 (82)

3-(3-fluor ophenyl)-2-oxazolidinone (3j): mp 87-88 °C; IR (KBr) 1743 cmt; H NMR
d 7.46 (dt, =113 Hz, J,=2.25 Hz,1 H), 7.39-7.18 (m, 2 H), 6.84 (ddt, J;=11.3 Hz,
J3>=2.25 Hz, 3=0.95 Hz, 1 H), 453-4.46 (m, 2 H), 4.08-4.00 (m, 2 H); 3*C NMR
d 162.97 (d, J = 244.8 Hz), 154.96, 139.78 (d, J = 10.7 Hz), 130.19 (d, J = 9.3 H2),
113.13 (d, J = 2.9 Hz), 110.6 (d, J = 21.2 Hz), 105.61 (d, J = 26.9 Hz), 61.29, 45.02;
MS calculated for CgHgFN O, = 181.16; MS (m/2) (relative intensity) 181 (M*, 52), 122
(100), 95 (92)

3-(3-cyanophenyl)-2-oxazolidinone (3k): mp 98-99 °C; IR (KBr) 1765, 2223 cri*; *H
NMR (DMSO) d 8.11 (s, 1 H), 7.88 (d, 3= 7.9, 1 H), 7.60 (d, J = 7.9 Hz, 1 H), 7.28-
7.24 (m, 1 H), 4.49-4.40 (m, 2 H),4.12-4.02 (m, 2 H); 3C NMR d 154.85, 139.38,
130.26, 126.77, 122.40, 120.68, 118.58, 111.78, 61.76, 44.54; MS calculated for
C1oHgN2 O, = 188.18; MS (m/z) (relative intensity) 188 (M*, 43), 129 (100), 102 (67)
3-(2-naphtylphenyl)-2-oxazolidinone (3l): mp 210-211 °C; IR (KBr) 1737 cmi’; *H
NMR (DMSO) d 7.99 (m, 5 H), 7.52-7.43 (m, 2 H), 4.53-4.46 (m, 2 H), 4.22-4.14 (m, 2
H); 3 C NMR d 155.05, 136.34, 133.16, 129.56, 128.48, 127.42, 127.28, 126.60, 124.93,
118.24, 114.26, 61.56, 44.98; MS cdculated for Ci3H1iIN O, = 213.23; MS (m/z)
(relative intensity) 213 (M*, 80), 154 (50), 127 (100), 77 (21), 51 (4)
3-(1-naphtylphenyl)-2-oxazolidinone (3m): mp 233-234 °C; IR (KBr) 1736 cm*; 'H
NMR d 7.89-7.84 (m, 3 H), 7.53-7.44 (m, 4 H), 4.58-4.50 (m, 2 H), 4.02-3.94 (m, 2 H);
13C NMR d 157.48, 134.52, 133.96, 129.83[1128.63, 128.56, 126.90, 126.47, 125.58,
124.53, 122.31, 62.51, 48.96; MS calculated for Ci3H1iN O, = 213.23; MS (m/2)
(relative intensity) 213 (M™, 83), 127 (100), 77 (19)

3-(9-fenantrylphenyl) -2-oxazolidi none (3n): mp 242-243°C; IR (KBr) 1752 cm*; 'H
NMRd 8.20 (dd, J; = 7.3 Hz, J, = 1.9 Hz, 2 H), 8.12-8.07 (m, 2 H), 7.69-7.56 (M, 4 H),



4.86-4.78 (m, 2 H), 4.17-4.09 (m, 2 H);**C NMR d 131.43, 128.89, 128.69, 128.53,
127.81, 127.27, 125.81, 122.62, 62.97, 48.03; MS calculated for C;7H13N O, = 263.29;
MS (m/Z) (relative intensity) 263 (M*, 100), 204 (62), 190 (21)
3-(4-methylphenyl)-2-oxazolidinone (3p): mp 73-74 °C; IR (KBr) 1733 ;'"HNMR d
7.33-7.28 (m, 2 H), 7.05 (d, J = 8.6 Hz, 2 H), 4.37-4.29 (m, 2 H), 3.93-3.85 (m, 2 H),
2.24 (s, 3 H); *CNMR d[1155.52, 135.86, 129.63, 124.07, 118.40, 61.43, 45.22, 20.82;
MS calculated for C1oH1iN O, = 177.20; MS (m/2) (relative intensity) 177 (M*, 65), 118
(100), 91 (97), 77 (11), 51 (10)

3-(4-tert-butylphenyl)-2- oxazolidinone (3g): mp 85-86 °C; IR (KBr) 1733 cmt: H
NMR d 7.52-7.40 (m, 4 H), 451-4.43 (m, 4 H), 4.09-4.01 (m, 2 H), 1.35 (s, 9 H); **C
NMR d 155.42, 147.03, 135.65, 131.00, 125.86, 118.10, 61.33, 45.26, 34.28, 13.31; MS
calculated for CizHi7N.O, = 219.13; MS (m/2) (relative intensity) 219 (M*, 19), 204
(100), 132 (14), 77 (11), 51 (5)

3-(4-phenylphenyl)-2-oxazolidinone (3g): mp 202-203 °C; IR (KBr) 1733 cmt; *H
NMR d 7.64-7.69 (m, 6 H), 7.46 (t, J=7.6 Hz, 1 H), 7.35 (d, J=7.1 Hz, 2 H), 4.50-4.42
(m, 2 H), 414-4.09 (m, 2 H);*3C NMR d 154.89, 139.40, 137.94, 135.02, 128.91,
127.16, 127.00, 126.31, 118.29, 61.51, 44.71; MS calculated for Ci;5H13N Oz = 239.27;
MS (m/Z) (relative intensity) 239 (M* 100), 180 (57), 167 (24), 152 (63)
3-(3-acetylphenyl)-2-oxazolidinone (3r): mp 74-75 °C; IR (KBr) 1679, 1745 cmit; *H
NMR d 8.00-7.97 (m, 2 H), 7.75-7.71 (m, 1 H), 7,50 (t, J = 8 Hz, 1 H), 4.58-4.50 (m, 2
H), 4.17-4.09 (m, 2 H), 2.64 (s, 3 H); *C NMR d 197.68, 155.17, 138.77, 137.67,
129.28, 123.87, 122.71, 116.91, 61.39, 45.01, 26.64; MS calculated for CG1H11N Oz =
205.21; MS (m/z) (relative intensity) 205 (M*, 87), 190 (100), 146 (59), 132(5), 91 (51),
77 (23)

4-benzyl-3-(4-formylphenyl)-2-oxazolidinone (3aa): oil; IR (neat) 1742, 1698 cmit;
'HNMRd 10.01 (s, 1 H), 7.98 (d, J= 8.7 Hz, 2 H), 7.84 (d, J = 8.8 Hz, 2 H),7.37-7.15
(m, 2 H), 4.76-4.82 (m, 1 H), 4.42-4.33 (m, 1 H), 4.32 (dd, J;= 8.9 Hz, J, = 4.0 Hz, 1
H), 3.22 (dd, J; = 9.0 Hz, J,=3.5 Hz. 1 H), 2.88 (dd, J; = 9.0 Hz, J, = 35 Hz, 1 H); 1*C
NMR d 190.93, 154.74, 142.36, 134.63, 132.39, 131.10, 129.22, 129.11, 127.60,
119.86, 65.89, 56.61, 37.49; MS calculated for C17H1sN Oz = 282.11; MS (m/z) (relative
intensity) 281 (M*, 15), 190 (100), 118 (96), 91 (67), 77 (18), 51 (15)



4-benzyl-3-(3-methoxyphenyl)-2-oxazolidinone (3ab): oil; IR (neat) 1754 cmit; *H
NMR d 7.34-7.11 (m, 8 H), 6.78 (dd, J; = 8.3 Hz, J, = 2.5 Hz, 1 H), 4.69-4.56 (m, 1 H),
433 (t, J = 8.1 Hz, 1 H), 4.20 (dd, J1= 8.8 Hz, J, = 4.7 Hz, 1 H), 3.84 (s, 3 H), 3.16 (dd,
J1 =138 Hz, = 35Hz 1 H), 278 (dd, J; = 13.8 Hz, J, = 9.3 Hz, 1 H); 3 CNMR
d 160.33, 155.29, 137.80, 135.11, 129.94, 129.09, 128.87, 127.21, 113.32, 110.58,
107.65, 65.83, 57.25, 55.32, 37.61; MS caculated for C;7H17N O3 = 283.32; MS (m/z)
(relative intensity) 283 (M*, 21), 192 (100), 133 (41), 105 (16), 91 (24), 77 (17), 65 (11)
4-benzyl-3-(4-phenylphenyl)-2-oxazolidinone (3ac): mp 152-153 °C; IR (KBr) 1740
cm?; H NMR d 7.63-7.56 (m, 6 H), 7.44-7.28 (m, 6 H), 7.15-7.11 (m, 2 H), 4.74-4.61
(m, 1 H), 4.38-4.30 (m, 1 H), 4.19 (dd, J; = 8.8 Hz, J,= 4.9 Hz, 1 H),3.17 (dd, J; = 13.8
Hz, J, = 35 Hz, 1 H), 2.79 (dd, J; = 13.8 Hz, J, = 9.2 Hz, 1 H); MS calculated for
CxH190N O, = 329.39; MS (m/2) (relative intensity) 329 (M*, 35), 238 (85), 194 (100)
4-'butyl-3-(4-for mylphenyl)-2-oxazolidinone (3ba): oil; IR (neat) 1755, 1698 cm’; *H
NMRd 9.92 (s, 1H), 7.88 (d, J=8.6 Hz, 2 H), 7.64 (d, J = 8.6 Hz, 2 H), 4.56-4.52 (m,
2 H), 4.17-4.16 (m, 1 H), 0.99 (d, J= 5.6 Hz, 3 H), 0.93 (d, J = 5.7 Hz, 3 H); ) CNMR
d 190.89, 154.83, 142.38, 132.17, 130.80, 119.93, 67.38, 54.44, 40.62, 24.62, 23.44,
21.56; MS calculated for Ci4H17N Oz= 247.29; MS (m/z) (relative intensity) 247 (M™,
29), 190 (71), 146 (10), 118 (100), 77 (22), 51 (12)
4-'butyl-3-(3-methoxyphenyl)-2-oxazolidinone (3bb): oil; IR (neat) 1755 cmt; H
NMR d 7.30 (t, J = 8.2 Hz, 1 H), 7.10 (t, J = 2.2 Hz, 1 H), 6.97 (dt, J; = 8.1 Hz, J» =
0.66 Hz, 1 H) 6.75 (dit, J; = 8.3 Hz, J, = 1.8 Hz, 1 H), 4.12 (dd, J; =7.9 Hz, J, =4.9 Hz, 1
H), 3.82 (s, 3 H), 0.96 (d, J = 6.2 Hz, 3 H), 0.93 (d, J = 6.2 Hz, 3 H); 3 C NMR
d 160.20, 155.52, 137.96, 129.76, 113.63, 110.63, 107.82, 67.50, 55.28, 55.05, 41.01,
24.62, 23.48, 21.62; MS cadculated for Ci4HioN O3 = 249.31; MS (m/z) (relative
intensity) 249 (M*, 60), 192 (100), 133 (70), 77 (30)

4 butyl-3-(4-phenylphenyl)-2-oxazolidinone (3bc): mp 109-110 °C; IR (KBr) 1735
cmt; *H NMR d 7.65-7.64 (m, 9 H), 4.61-4.40 (m, 2 H), 4.13 (dd, J; = 7.6 Hz, J, = 4.1
Hz, 1 H), 1.78-1.48 (m, 3 H), 0.97 (d, J = 6.5 Hz, 3 H), 0.90 (d, J = 6.5 Hz, 3 H); °C
NMR d 155.70, 140.21, 137.90, 135.98, 128.80, 127.75, 127.29, 126.88, 121.97, 67.64,
54.99, 41.12, 24.67, 23.52, 21.68; MS calculated for GgH:nN O, = 295.38; MS (m/2)
295 (M*, 100)



4-methyl-3-(4-for myilphenyl)-2-oxazolidinone (3ca): oil; IR (neat) 1748 cmi'; 'H
NMR d 991 (s, 1 H),7.87 (d, J= 8.6, 2 H), 7.65 (d, J = 8.6, 2 H), 4.63-4.56 (m, 2 H),
4.06-4.04 (m, 1 H), 1.38 (d, J = 5.5 Hz, 3 H); **C NMR d 190.95, 154.79, 142.25,
132.20, 130.84, 119.92, 68.59, 51.70, 18.36; MS calculated for G1H11N O3 =205.21;
MS (m/z) (relative intensity) 205 (M*, 100), 190 (22), 146 (86), 132 (65), 77 (54), 51
(25

4-methyl-3-(3-methoxyphenyl)-2-oxazolidinone (3cb): oil; IR (neat) 1748 cm*; 'H
NMR d 7.26 (t, J= 8.1 Hz, 1 H), 7.07 (t, J = 2.2 Hz, 1 H), 6.94 (dt, J; = 7.3 Hz, J, = 0.7
Hz, 1 H), 6.72 (dt, J; = 7.6 Hz, J, = 0.7 Hz, 1 H), 4.56-4.46 (m, 2 H), 3.99-3.96 (m, 1
H), 3.78 (s, 3H), 1.31 (d, J = 6.0 Hz, 3 H); **C NMR d 160.20, 155.51, 137.76, 129.77,
113.73, 110.54, 107.97, 68.59, 55.31, 52.34, 18.39; MS calculated for GiHisN O3 =
207.23; MS (m/Z) (relative intensity) 207 (M*, 100), 192 (28), 148 (80), 134 (39), 77
(49)

4-methyl-3-(4-phenyilphenyl)-2-oxazolidinone (3cc): mp 145-146 °C; IR (KBr) 1737
cm; *H NMR d, 7.64-7.38 (m, 9 H), 4.59-4.47 (m, 2 H), 4.06-3.98 (m, 1 H), ; 1.34 (d, J
= 59 Hz, 3 H); *C NMR d155.69, 140.20, 137.88, 135.83, 128.84, 127.73, 127.32,
126.88, 122.00, 68.70, 52.25, 18.43; MS calculated for C16H15N.O, = 253.30; MS (m/z)
(relative intensity) 253 (M™, 100), 238 (8), 194 (86), 180 (30), 152 (80)

5-methyl-3-(4-for myilphenyl)-2-oxazolidinone (3da): mp 130-131 °C; IR (KBr) 1755,
1688 cmt; *H NMR d 9.86 (s, 1 H), 7.81 (d, J = 8.8 Hz, 2 H), 7.64 (d, J = 8.8 Hz, 2 H),
4.84-4.74 (m, 1 H), 4.14 (t, J = 8.6 Hz, 1 H), 3.63 (dd, J, = 8.8 Hz, J, = 7.1 Hz, 1 H),
1.50 (d, J = 6.2 Hz, 3 H); *C NMR d 190.93, 154.36, 143.64, 131.65, 130.84, 117.58,
69.86, 51.53, 20.58; MS caculated for C11H1aNO3 = 205.21; MS (m/z) (relative
intensity) 205 (M*, 100), 132 (100), 77 (27), 51 (13)
5-methyl-3-(3-methoxyphenyl)-2-oxazolidinone (3db): oil; IR (neat) 1747 cm*; 'H
NMR d 7.26-7.18 (m, 2 H), 7.00-6.99 (m, 1 H), 6.64 (dd, J = 8.0 Hz 1 H), 4.73-4.66
(m, 1H), 4.04 (t, J =8.6 Hz, 1 H), 3.78 (s, 3H), 3.54 (dd, J; = 8.7 Hz, J» =7.2 Hz, 1 H),
1.47 (d, J = 6.2 Hz, 3 H); ®*CNMR d 160.23, 154.77, 139.64, 129.68, 110.20, 109.37,
104.35, 69.52, 55.30, 51.90, 20.62; MS calculated for Ci1H13N Oz = 207.23; MS (m/z)
(relative intensity) 207 (M™, 66), 134 (100), 107 (34), 77 (38), 64 (15)
5-methyl-3-(4-phenyilphenyl)-2-oxazolidinone (3dc): mp 174-175 °C; IR (KBr) 1738
cm™; 'H NMR d 7.60-7.34 (m, 9 H), 4.88-4.71 (m, 1 H), 4.11 (t, J = 8.6 Hz, 1 H), 3.66-



3.58 (m, 1 H), 1.53 (d, J = 6.2 Hz, 3 H); *3C NMR d 154.86, 140.24, 137.68, 136.68,
128.82, 127.57, 127.19, 126.80, 118.43, 69.61, 51.86, 20.69; MS calculated for
CisH1sN O, = 253.30; MS (m/z) (relative intensity) 253 (M*, 89), 180 (100), 152 (89)
4-(2-ox0-[1,3]oxazinan-3-yl)-benzaldehyde: mp 184-186 °C; IR (KBr) 1686 cmi’; 'H
NMRd 9.97 (s, 1 H), 7.92-7.85 (m, 2 H), 7.58-7.52 (m, 2 H), 4.43 (t, J = 5.4 Hz, 2 H),
380 (t, J = 6.1 Hz, 2 H), 2.29-2.18 (m, 2 H); **C NMR d 191.13, 152.08, 148.25,
133.76, 130.39, 125.26, 67.20, 47.96, 22.43; MS calculated for G1H11N O3 = 205.21,
MS (m/2) (relative intensity) 205 (M*, 46), 146 (10), 132 (100), 105 (32), 77 (32), 51
(15

3-biphenyl-4-yl-[1,3]oxazinan-2-one: mp 197-198°C; IR (KBr) 1675 cmit; *H NMR d
7.61-7.33 (M, 9 H), 4.03 (t, J= 5.3 Hz, 2 H), 3.73 (t, J = 6.1 Hz, 2 H), 2.24-2.13 (m, 2
H); *C NMR d 152.93, 142.26, 140.48, 139.79, 129.31, 128.00, 127.53, 127.20, 126.16,
67.15, 48.82, 21.62; MS calculated for CigHisNO, = 253.11; MS (m/z) (relative
intensity) 253 (M*, 90), 181 (100), 152 (71)



